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Nazism and the rise of Hitler

Question 1.
When did Hitler formally announce his violation of the Treaty of Versailles ?

What reason did he give for this ?
Answer:

1. Hitler formally announced his violation of the Treaty of Versailles in March
1935.

2. Hitler claimed that he was trying to make Germany equal in position to the
other European powers.

3. Since European nations had not followed the policy of disarmament,
German rearmament was a necessity.

Question 2.

What was the ideology of the Nazis regarding the Jews ?
Answer:

The ideology of the Nazis regarding the Jews were :

1. All schools were cleansed and purified under Nazism. Those teachers were
dismissed who were found to be Jews or seen as politically unreliable.

2. German and Jew children were not allowed to sit or play together.

3. All the undesirable children—Jews, Gypsies, and the physically handicapped
were dismissed from schools and.Jinally were taken to gas chambers in the

1940s.



Question 3.

What do you know about ‘Nazi schooling’ ?

Answer:

All ‘Good German’ children were subjected to a prolonged period of ideological
training—a process of Nazi schooling. School textbooks were rewritten. Racial
science was introduced to justify Nazi ideas of race. Children were taught to be
loyal and submissive, hate Jews, and worship Hitler. Even sports was used to
nurture a spirit of violence and aggression among children. Hitler believed boxing
made children iron-hearted, strong and masculine.

Question 4.

What was the Nazis ideology regarding motherhood ?

Answer:

In Nazi Germany, children were repeatedly told that women were radically
different from men. It was preached that the fight for equal rights for men and
women was wrong and it would destroy the society. The boys were taught to be
aggressive, masculine and steel-hearted. The girls were taught to become good
mothers. They were supposed to rear pure-blooded Aryan children and maintain
the purity of the race. They had to distance themselves from Jews, look after the
home, and over and above teach their children the Nazi values.

Question 5.
What were the results of the victory of Nazism in Germany ?
Answer:

1. The victory of Nazism in Germany led to the destruction of democracy and
establishment of dictatorship.

2. It also led to the militarism and preparation for the war.
3. In Germany, all other political parties were banned except the Nazi Party.

4. Nazism opposed Socialism and Communism, so the advocates of these
philosophies were either jailed or killed.
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